L2 COMPUTE time per input event

Entries

Underflow

4777339

Mean 3.965

RMS 3.754

0

Overflow 1482

111 I 111 I 111 I 111 I 111 I 111 I 111 I 111 I 111
0 20 40 60 80 100 120 140 160 180
X: COMPUTE time (CPU KTics)

rate of COMPUTE

Mean 1018

=
o

y: rate (Hz)

arrraae

13816406

0 200 400 600 800 1000 1200 1400 1600 1800 2000
X: time in this run (seconds)

L2 DECISION time per input event Enties 44300
Mean 3.739
§4) .
2 : : : : : :
9] . : : : : : | rRms 2.127
%04:_ et TTTTITTosTsStEmmsAmmsEmsEETn
> E + | underfiow 0
r Overflow 65

1111 I 1111 I 1111 I 1111 I 1111
] 5 10 15 20 25 30 35
x: DECISION time (CPU kTics)

y: rate (Hz)

rate of DECISION Enties 44300
Mean 1017

- : : RMS 565.6

[ Underflow [

I Overflow 1.28e+04

10

total events. 0=anylnput pti pt 1 p

Entries 9753921

Mean 1194

RMS 1581
*[ underflow 0

i| overfiow [

0 2 4 6 8 10 12 14 16 18
Input: 0=comp, 1=decis, user ..., 10=accept,...user

111 111111
800 1000 1200 1400 1600 1800 2000
X: time in this run (seconds)

0 200 400 600

L2 COMP+DECI time per input event

Entries

Underflow

Overflow

44300

Mean 1333

RMS 8.434

0

51

100 120 140

Tue Jun 16 255ETES0TE

160 180

rate of ACCEPT

N
<

y: rate

10

ETOW-compute: #towers w/ energy /event Entries 4777339
Mean 235
2
c r . .
§ I VS 1.986
' B
> : 1 | underfiow 0
. » | overflow 0

x: # ETOW towers

Entries 44300

Mean 1017

RMS

Underflow

Overflow 1.28e+04

-IIIIIII-IIIIIIIIIIIIII;I-IIIIIIIIIIIIII;
0 200 400 600 800 1000 1200 1400 1600 1800 2000
X: time in this run (seconds)

ETOW: Seed Tower Number
Entries 22236

- |Mean

368.5

204.5




ETOW: Cluster Seed Et GeV | Entries

10*

10

Mean
RMS

22236

5.683
1.432

...................................................................................................

.........................................................................................

ETOW-decision: accepted clust ... Entries

102

10

=

Mean

44296

7.003
1.696

A . T — Lrus

25

30

x: ET(GeV)

ETOW:

10*Seed Et/Cluster Et GeV | Entries

10*

10°

10

.................... | Mean
N N N N RMS

22236

8.212
1.314

.........................................................................................................




ETOW: Seed Tower Number

Entries

Mean

RMS

22236

180.7

106.7

S A B DO O O S IS S S Y
B R Ny My B | s T (| |““|““|““|““| -------- N S T -“-|-“-|-“T“T“-l-“-l-“-l-“-l-“-i“-i B My M I
0 50 100 150 200 250 300 350
ETOW: Seed Tower Number | Entries 22236
R s S Mean 536.2

RMS

96.35

D oSOt DOPOOIOUISPIOE HOSOPSPIOIOIUINNt (SO (SRR 0 | SRR Hetees (o
400 450 500 550 600 650 700




ETOW-compute: #seed towers ET>4.20 GeV / event

Entries 4777339

ETOW-decision: acc cluster ET>5.50 GeV

1] E Mean 0.5092
c
=]
o
_LT RMS 0.09562
R0k e
105 O
104 .........................................................................
103 .........................................................................
102 .........................................................................
10 .........................................................................

1 'r'|'i1'r1'|'i'l'|'|'r'i'r1'r1'i'1'|'|'|'i1'r1'ri'l'1'|'|'i'r1'r1'i'1'|'r'|'i'|'r1'r

0O 10 20 30 40 50 60 70 80 90 100

X: # ETOW towers

12} Mean  0.5092
c

>

Q

5} RMS  0.09548
o

1 .......................................................................

10 ........................................................................

104 ........................................................................

Entries 4821639

0 5

'|'l1'r1'r{'r|'|'r'|'r1'r1'|'1'|'|'|'|1'r1'rI'r1'|'|'|'r1'r1'|'|'|'|'|'|'|'r1'r

10 15 20 25 30 35 40 45
x:cluster ET(GeV)

ETOW-decision: any cluster

..........................................................

10*

Entries

7| Mean

B

22060

7.003

1.696

50

ETOW: Seed Tower Rank

Entries

................................................

10

102

10

20 25

x: ET(GeV)

30

F T T T T T T T T Mean

RMS

22236

1.501

0.02922

10*

...................................................................

10

10

"|'1:'|"|"|"i"|'i'f'i"|"|"|':I'|"|"|'|'i'|"|"|"|'i'|" N

0 2 4 6 8 10 12 14 16 18

20




| ETOW: Seed Tower Quadrant Entries 22043

Mean 1.621
RMS 1.077

| ETOW: Cluster Et Sum GeV | Entries 22043
Mean 7.003
RMS 1.696

=
(=}
S

w

=
o

=
o
N

=
o

o
I| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|

=

ETOW: # non-zero towers per cluster Entries 22236

; ; ; : : : ! ! Mean 2.898
""""" ' ’ 0.7601

10*

10°

.........................

10

0 0.5

Tue Jun 16 22:36:15 2015



